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15>P>25

EoverP_BHT1pEle 0
Entries 106516
Mean 0.9338
RMS 0.4148
x 2 / ndf 152.5/24
ExpConst 7124 + 0.022
ExpSlope -0.9734 =+ 0.0241
GausConst 9740 =+ 459
GausMean 0.9149 = 0.0007
GausSigma 0.1627 = 0.0006
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EoverP_BHT1pPos 0

Entries 107915

Mean 0.9159

RMS 0.4339

%2 / ndf 275.3/24

ExpConst 7.609 = 0.019

ExpSlope -1.346 =+ 0.025

GausConst 9190 =+ 45.0

GausMean 0.9319 = 0.0007

GausSigma 0.163 =+ 0.001



1.5 > P > 2.5
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Entries 38523
Mean 1.137
3000 RMS 0.5673
v2 / ndf 26.15/24
2500 ExpConst 5.418 = 0.034
ExpSlope 0.5352 + 0.0259
GausConst 2505 =+ 26.1
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GausSigma  0.1445 = 0.0014
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2.5 > P > 3.5


EoverP_BHT1pEle 2
35>P>45 Entries 24717
— ' Mean 1.195
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— x2 I ndf 63.22/24
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Entries 29368
2500 Mean 1.226
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3.5 > P > 4.5
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45>P>55

Entries 22379
Mean 1.097
RMS 0.2938
v2 / ndf 248.7 /24
ExpConst 2.997 = 0.080
ExpSlope 1.461 + 0.054
GausConst 2396 = 24.1
GausMean 1.05 + 0.00
GausSigma  0.1503 = 0.0012
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EoverP_BHT1pPos 3
Entries 23060
Mean 1.128
RMS 0.3015
x2 / ndf 307.2/24
ExpConst 3.187 = 0.073
ExpSlope 1.386 + 0.051
GausConst 2375 = 23.7
GausMean 1.087 = 0.001

GausSigma 0.1531 = 0.0013
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4.5 > P > 5.5
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55>P>65 Entries 15241
Mean 1.014
RMS 0.2351
v2 / ndf 99.44/ 24
ExpConst 2.463 = 0.125
ExpSlope 1.097 + 0.086
GausConst 1791 = 19.6
GausMean 0.9942 + 0.0014
GausSigma  0.1525 = 0.0012
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Entries 14192
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5.5 > P > 6.5


EoverP_BHT1pEle 5
65>P>75 Entries 8058
~ Mean 0.9622
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Entries 7291
Mean 0.9943
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600 GausSigma  0.1526 = 0.0019
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6.5 > P > 7.5
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0.1697 = 0.0027
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Entries 3340
Mean 0.9455
400 RMS 0.2425
v2 / ndf 49.49/24
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7.5 > P > 8.5
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8.5 > P > 9.5






EoverP_BHT1pEle 8
95>P>105 Entries 885
Mean 0.8124
RMS 0.2546
v2 / ndf 40.47 /23
ExpConst -2.134 +1.477
ExpSlope 1.972 + 0.932
GausConst 86.18 = 3.72
GausMean 0.8109 + 0.0074
GausSigma  0.1832 = 0.0052
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EoverP_BHT1pPos 8
Entries 717
Mean 0.8646
RMS 0.2902
v2 / ndf 40.98 /24
ExpConst -3.242 + 10.003
ExpSlope 2.349 = 6.240
GausConst 59.8 + 3.0
GausMean 0.8374 + 0.0100

GausSigma  0.2119 = 0.0105



9.5 > P > 10.5


EoverP_BHT1pEle 9
105>P>11.5 Entries 445
Mean 0.7968
RMS 0.2895
v2 / ndf 22 /21
ExpConst -1.766 = 2.304
ExpSlope 1.332 + 1.406
GausConst 38.49 = 2.50
GausMean 0.7653 + 0.0120
GausSigma  0.2048 = 0.0107

.............................................................................................................................................

EoverP_BHT1pPos 9
Entries 373
Mean 0.8107
RMS 0.2691
v2 / ndf 37.41/22
ExpConst -104 + 1.4
ExpSlope -3.491 + 1.414
GausConst 294 + 1.8
GausMean 0.8262 + 0.0127

GausSigma  0.2234 = 0.0079

.........................................................................................................................................

.........................................................................................



10.5 > P > 11.5
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EoverP_BHT1pEle 10

Entries 247
Mean 0.7227
RMS 0.2758
x2 / ndf 22.1/19

-1.638 + 2.338
1.245 + 1.573
22.19 = 1.99
0.7031 = 0.0149
0.1821 + 0.0126
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EoverP_BHT1pPos 10

Entries 168
Mean 0.7972
RMS 0.3024
%2 / ndf 16.35/20
ExpConst 7.722 = 0.019
ExpSlope -5.122 + 0.030
GausConst  -4.859e+04 = 8.897e+02
GausMean -1.514 = 0.004
GausSigma 0.5977 + 0.0012



11.5 > P > 12.5


EoverP_BHT1pEle 11
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SRS OSSO N %2/ ndf 19.72/16
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GausConst 9.953 =+ 1.448
SRR RN RO GausMean  0.6803 = 0.0297
GausSigma  0.2152 = 0.0311
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12.5 > P > 13.5
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Entries 113
Mean 0.6521
RMS 0.2656
%2 / ndf 13.75/16
ExpConst 0.03567 +1.21102
ExpSlope 0.2103 = 0.8185
GausConst 9.092 +1.729
GausMean 0.5877 +0.0331

GausSigma -0.1589 = 0.0415
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Entries 55
Mean 0.7061
RMS 0.3881
¥2 / ndf 10.03/13
ExpConst 3.063 = 1.014
ExpSlope -2.6 +1.2
GausConst -933.7 + 1299.1
GausMean -0.7672 = 0.5974

GausSigma  0.3575 = 0.1679



13.5 > P > 14.5
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14.5 > P > 15.5


EoverP_BHT1pEle 14

Entries 36
Mean 0.56
RMS 0.2112
x2 / ndf 6.837/8
ExpConst 2.227 +1.203
ExpSlope -2.212 + 1.560
GausConst  -4.091e+05 =+ 3.824e+05
GausMean -1.279 = 2.420
GausSigma 0.3284 = 0.5178
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Entries 27
Mean 0.6708
RMS 0.3593
%2 / ndf 3.1477/7
ExpConst 1.048 = 0.001
ExpSlope -0.6551 = 0.0012
GausConst 1438 + 92858859520.0
GausMean 0.04112 = 7.61821
GausSigma 0.03836 = 2.41870




EoverP_BHT1pEle 15
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EoverP_BHT1pEle 16
Entries 18
Mean 0.5362
RMS 0.2337
¥2 / ndf 2.478/6
ExpConst 0.913 = 0.908
ExpSlope -0.9689 + 1.4081
GausConst  -4.724e+04 + 6.589e+05
GausMean -0.7153 = 0.6700
GausSigma 0.2122 = 0.1414
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Entries 9
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EoverP_BHT1pEle 17

Entries 11
Mean 0.4179
RMS 0.1441
x2 / ndf 1.997/2
ExpConst 0.1385 = 4.9717
ExpSlope 1.378 + 24.960

GausConst -2.064 + 39.171
GausMean 0.7031 = 2.0731

GausSigma -0.1882 + 1.2100
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Entries 2
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